EARAROBEEIERT — 2 N— IBISH —F

2018F1A17H (k) 10mE#AHE3H

WG =57 “Or S aF{ TRER! R

C 5%

‘ (%] 8 ‘ [EmmEl  — | 4 (%) 15000 &

[A~&£] 1 7% :1,000,000  ~ 23 :350,000 ™ 37 :200,000H™

4 7% 150,000 . 5 3& : 100,000 M

& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
A R SRR . _0_o_ - thER JI1E
117l g| =% v=LTL1s 5 et 1.(3_7).5 8-9-2-2 | 39.6 6 :3_014) z;ﬁ%—( 1)
L:TLAI5>TO N Bdrk-—02y BR=AHS
oL =P, R BEHB :39. —-8-10- . — FEARER (111E)
2 3 XAYLTLIT L 4 o 1 (35))1 7-8-10-10 | 40.3 9 (ﬂ) e U
R:¥>inqo— B:xa49>7vJ> DEAHZAT—T I
S N it 4 HsA :39. -3-3- . — AR ()
N ; FIESZES2 s - ey | 7S P | e
VW= F v —L BTS2 T AH EX
N FHfE— : -7-9- - 1EEEZ (o)
4l7lg|VTa>971102 it 6 e (17.3;;) 9-7-9-9 | 40.3 5 :_252) e
R:BALINT Ry IR B:357001I0 BEANIS
450N :39. —4-5- . — EHE (IE)
5055 AE s 4 5 54_0‘( 1(739t>2 3-4-5-4 | 40.8 10 <4+136) e &
R:F4—TZAA B4 TrIr—F1 F—L— - Tp/N> - T7—LARE
S 4w 46 | HEAS 1:39.3 10-10-11-11{ 40.0 | — 11 465 | EEEBHL (A0tE)
6|81 /N F=E b 56.0 1) e |EmRE
RN=—YT54 B:ANEXFIN— i cie)
4 o5 | EEHT 1:39.3 6-6-8-8 |40.8| — 3 463 | PREA (fints)
]2 [ N O e 56.0 (74%) (-1) | B
Lixq4yaR—F— B:FriEF44F BiE45
-3, 5 5 | BEY 1:39.8 5-5-7-6 | 41.3| — 2 455 | FHBEE (AH)
g|1]1|=>¥/71h 56.0 172 e |ERE
R:F4—TZAHA BiAU—HOrU-— R Rk
e S 4 5 | LUAEAE 1:39.9 11-11-6-7 | 41.5| — 1 481 | EEEEZ (1A18)
Eﬂ 4 2w R 56.0 (1/2) (+4) (#®) *ﬁﬁﬁg
Rix>inaO— B:xa4 kX KBS
o S s 4 | L= 1:40.3 1-1-1-1 | 42.4| — 7 468 | EEEFAX (fRf)
10/8|10| ¥~ET— 54.0 @ w1 | B
R:7144H0 B:ILELT—F plitie)
= = ap FERRE : -2-3- - HEEE (ffE)
11 6| 7ATF125 it 7 b 174(1):;1 2-2-3-5 | 42.2 4 (4_5;4) *;%é
L:vAxNTT B:X-U7 =RE4S
® I —F—@EBIERL
13=7r= 10,6,5,7,1,2,3,9,8,11,4
2a=7r= 10,6,7,5,1,2,8,3,9,11,4
Jol=5r= 10,9, (6,7),5,4,1,2,8,3,11
40—+ — 10,9,7,5,6,1,4,2,8,3,11
[ N3
B OB 9 760M 714K 3-9 2,720 % E 3-7 5,660 3EHE 3-7-9 29,0004
8 B 9 260M 7-9 2,040 B 7-3 6,280M K31 9-3-7 191,700
3 820H 3-7 3,810 B E 3-9 13,290
7 600H B H 9-3 16,220M

ABICOVWTRDTEEERROODE. TR LIV,




